ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 10 - ENGLISH LANGUAGE AND LITERATURE
Periodic Test-III (2019-20)
Time Allowed: 1 hour and 30 minutes Maximum Marks: 40
General Instructions:
Note: All questions are compulsory.

Section A

1. Read the passage given below and complete the sentences that follow: [8]
A sparrow is a small bird which is found throughout the world. There are many different
species of sparrows. Sparrows are only about four to six inches in length. Many people
appreciate their beautiful song. Sparrows prefer to build their nests in low places-usually on
the ground, clumps of grass, low trees and low bushes. In cities, they build their nests in
building nooks or holes. They rarely build their nests in high places. They build their nests out
of twigs, grasses and plant fibres. Their nests are usually small and well-built structures.
Female sparrows lay four to six eggs at a time. The eggs are white with reddish-brown spots.
They hatch within eleven to fourteen days. Both the male and female parents care for the
young. Insects are fed to the young after hatching. The large feet of the sparrows are used for
scratching seeds. Adult sparrows mainly eat seeds. Sparrows can be found almost
everywhere, where there are humans. Many people throughout the world enjoy these
delightful birds.
The sparrows are some of the few birds that engage in dust bathing. Sparrows will first
scratch a hole in the ground with their feet, then lie in it and fling dirt or sand over their
bodies with flicks of their wings. Many birds, particularly game birds and sparrows, take dust
baths as part of their regular preening. The dust helps dislodge parasites and absorbs excess
preen oil so feathers are not heavily coated. Birds that do not bathe in water are more likely to
use dust baths frequently, but many birds use both types of bathing. They will also bathe in
water, or in the dry or melting snow. Water bathing is similar to dust bathing, with the
sparrow standing in shallow water and flicking water over its back with its wings, also
ducking its head under the water. Both activities are social, with up to a hundred birds
participating at once, and is followed by preening and sometimes group singing.

Answer the following questions :

a. The chief food for the adult sparrowis .
b. Sparrows live wherever

c. The word, 'species’' means

d. Sparrows _______in high places.

e. take care of the young sparrows.

f. Sparrows take bathin .
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g. Bathing for the sparrows is a
(a) personal activity (b) routine activity (c) social activity (d) difficult task
h. Bathing is followed by preening and ____.
(a) dancing (b) praying (c) flying (d) group singing
Section B
During the monsoons, mosquitoes find safe places like stagnant water and piles of garbage for [8]
breeding. As a result, many cases of dengue fever in your city have been noticed. More than a
thousand victims have been hospitalized in different parts of the city. You are Varun/Varsha, a
responsible citizen. Write a letter to the editor of a local daily, emphasizing the need to create
awareness of the problem of dengue, its causes, prevention and treatment.
OR
Imagine how the elephant got its trunk or how a giraffe got its long neck and put your imagination
in about 150-200 words:
Section C
The following passage has not been edited. There is an error in each line against whicha [4]
blank has been given. Write the incorrect word and the correction in your answer-sheet
against the correct blank number. Remember to underline the word that you have
supplied.

Error Correction

The children are regularly tell that a diet (@

having too much sugar and fat are bad (b)

for them : and chocolate contain a great (©)

deal off both of these. (d)

Rearrange the jumbled words and transform them into meaningful sentences. [4]

a. sky / the / countless / are / there / stars / in

b. twinkle / the / sky / stars / the / in / at night

c. of the / universe / the size / reveals / the vast sky

d. are / the / Hypergiants / universe / largest / stars / stars / in / the
Read the lines given below and answer the questions that follow: [4]
Pistol in his left hand, pistol in his right,
And he held in his teeth a cutlass bright,

His beard was black, one leg was wood;

It was clear that the pirate meant no good.

a. Name the poem and the poet.

b. What did he hold in both hands?

c. How did the pirate look?

d. What was the pirate's intention?

Section D

How does Maddie feel after listening to the note from Wanda’s father? [2]
What, according to the Buddha, is the nature of the life of human beings? [2]
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10.

Why was Mrs. Hall ready to avoid the scientist's strange habits and abnormal behaviour?
Why did Bholi not want to go to school first? What did she realise later?
How did the baker, known as "pader", highlight his arrival?

OR

"Where there is a will, there is a way." Elaborate in the context of the story of "The Making of a
Scientist."

[2]
[2]
[4]
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CLASS 10-HINDI A
PERIODIC TEST - IIT 2019-2020
Time Allowed: 1 hour and 30 minutes Maximum Marks: 48

General Instructions:

Section A
1. ot meriat #t g @ g ust & S ffeg- [4]
Yepfal Y dTehd oh = 914 foha1 i1 8, I8 ® 99y U R a4 3| It uepfa ag=sfierdr, 44,
ST Y ufergfd & T # gART UY-yesf= ! 8, gHR HiaR Tuy &l 9rg SIehr AT & g & oIy
IR T TH ! 8, Afch oie ot ST & Gg ol STt & aTet Uepfd Ue< IUgRI, S14-91d, SiTTet 3R ST
T TTOT Sk T HiTl S chl RITALT hY, T AATa-T o T | Uepfa & 3en TTe@ i A & | STe hl
g ¢ SR varg, fS8 atee1 ada™ 993 | 97 6l fOhdza 99 7 81 a1 3 §RLT A7 ot &1 g e,
Afcr @l 7 id Agsa A 41 ot IREH @ IS, UST Al Sdhre A doft Gapra 7T foram | et 6t ot &t
BAAT R AY WA h Aol Y ReplS ST SHH ohl TGN I Ikl ¢ | UBTS! chl Wi HEIfIhIY Wl hed
# g4 13 feden 981 gidt | gedt & 7 @ 9-51e1, @A, det nfe &t sfurde a1 dermd adich @ Mehret ST e
e It 81 39T At & IR IR 3R 8 GTel daTa! ahT THAT AT US dl ahig SMeR Y a1d 8l giT
=1fe g
g4 a1g T g foh ST oft Uepfar Sru=T SrgmeH atedl 8, a9 Wik qErgl et HSR g1 WA 1T 81 31T
SR 39 91d T a1 foh gH 3fagrd a1 a=:f e g ot aredft off grrt grera ofk a4 A 84 & afcds sasgeran
39 91 Y 8 o g7 Upfa & 39 T ol T1HRAT @ oid §T U= SMervT # gUifRid guR &< 3R uepfa &Y AT
T SAfTHATT T L
i. Uil Y aTeRd & GTHA ATAG e AT g1 ST 82
il. Uepfa & STET dten o1 @ ulkomH giar 8?2
iii. gpfd AR forg fohg UahR AT3Eaeh 872
iv. Upfd & 3k 31 T d@A St At g7
V. 39 TR & ATETH § Ak = o Haw fear 87
Vi. IURIh TTEier & fore Ifa fives g

Section B
2. a3k fafeg- [2]
i. guAT Ug @1 @ 3UfeIg AR A &t
ii. STt el AR B M7 AT a8 A A= A7 81
iii. gafeg g R gt 3R TgI-uge gt I3
iv. IJudereh HY R SR IJUaLT & AT | (FY<h TRy H TUT<IRUT HIfAY 1)
3. fFdmrgErR sw - [2]
i. 319 omem\ A yed & fore =< | (vrarar=a & uRafda Hifsig)
ii. 89 3T UhR hT AGTAER @THT T8l @Td & | (hHar=y s-13T1)
iii. iy & gRT T8 AT Grezar 3 wUl 7 &t 7 81 (ahefara | seferg)
iv. omgd | T7 R S| (hefar=a # seferg )
4. Iifeha vt &1 ug-ulea §fog- [2]
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10.
11.
12.

13.
14.
15.
16.
17.
18.

i. ueft armepT A SE 3R &

ii. g fey fer@ar g1
iii. A1gT gl e J a1 8|
iv. 89 3704 3 | A AT
1 usit & SmgER s &

i. 3% 79 @1 TRl Wi ford |
ii. 'gum' fRY T TR Wra 87
iii. “arer 9o puT Y UfE Wicht, 9T afSr wo19 avg e It 1" 7 79 warsd
iv. '%gd Jed dg1d Rezra faed fRera afSrara, R i & oed 8 A7 &1 99 a1d 1 | di=-91 39 82
Section C
f=forfeEa meria i ufeg ok = g g usif & SR forf@g-
gt QR srarsil ot /iR Sigt faf@ieetr @b el Aaa@m Rarst & forg SiHm ugdr 81 #7R Tes T € ararsit
HIER T ST @11 g AT IGAETS 3R SGeI-TaTs b Tg1 8 gl ST 81 39 A& 8 SHIRE I el ST =T
AT 81 39 UK 7 S fohaa aRE & diad-a1d ot gadt, st e, sheft grer & Ardha g9t 9k ugad 8d
21 3G 3R It STa el 8 e AHIRE 1 oht Gt et 81 erua &1 grenerri # fofdree @t grge 3
iR forar @ foh 378 o1 Sftae & sRferes At 7 Tfia & ufar smafe 8T M afg=t &t g et 81
Teh TR & IAhT SaTel 39 H S1a hl Tl IR Gifid UROT I qUiATAT TGA-TaTS 3R SdelaTs 2 Sl 8
i. "RarsT' 2155 AT T AT 872
ii. IGATATS IR TIATATS & TG G §IhR ATATSH T oh A ST fof @it @ ot ot st T 91?
iii. fofreaT @ sl 4? FraTsit A1 @ 3T T F&Y 8?2
FHEl, Mg, AETRI & ART81 W feret-A-feret &5 o uffrg aaf<h &l gfcd @ 1 g=ga=-91 81 11 81 39 a8
F1 A T & T IL A 8 Tohd 82
EITGR T ohl UT-aTet hl Shi--HT a1 et a1 ot ok =i?
T & Afched 3R ITHT AT T 31U+ 2T} A R v g
AQTdY 3feret’ vy fohg QTSI aif uR herel shedr g?
A A TR geoh ! AT HIoT hi feer a0 =t gt &2
fr=ferfea sraist @ vagde yga smutRa usit & SR §fSig-
Set, g 8t Sifd seurfh
JTORY IEd A @ d, AT J SRt |
R urd T8 siet iR, a1 39 3g 7 &t
T ST AT dl <hl TR, §& 7 dThT AT
ifa-=dr & urd 7 o<, gf 7 ®g it
Y& ST §H AR, R =1 ST g

i. 39 ug H foRg WIS 1 U g 8?
ii. Mot 3 T ot SrEar 3R "Wl IdTRR Igd WR T Sherel fohar g2
iii. Mt 3 Iga &l 'TSUTY’ ot w1 8?
38T pregafaan B3 ATel - a8 ufth fhaa ofik fohe T & gl @ 2
ULl & HATUR TR RYRH & WHTG T fatwarsti iR ois & fewaoft fifsg)
I4rg a7 &fd A fond daifad forar g 2
ged hl HHHM 3R Yor oS Afh &l JH A T =R 87
BT P § hfd 1 /T I 87 38 9 & i A7 fowam 872
STt U9 T TR’ el GA: 7 & forg o - it foRg g |

[2]

[4]

[2]

[2]
[2]
[2]
[2]
[4]

[2]
[2]
[2]
[2]
[2]
[3]
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OR
3y < <kt e IY gk gHifery ot g9 I8l ug & 38 87- Ueh WISl & 39 Y+ R Shaa-qedi &l g & =i RSy
Section D

19. afia saram @1 AgE 9d1d §U Bl W13 i Uk U farfegl [51
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Time Allowed: 1 hour and 30 minutes

CLASS 10 - MATHEMATICS
PERIODIC TEST - III 2019-2020

General Instructions:

Section A

For any two positive integers a and b, such that a > b. there exist (unique) whole numbers g
and r such that

aa =bg +r,0<r<bd b) a = qbr

ob=aqg+r,0<r<b d)g =ar +b,0<r<b
If o and f are the zeroes of the polynomial 22 + 5z + 1, then the value of o + B + a3 is

a) -2 b) 3

-1 d1

The system of linear equations a;x + b1y + ¢1 = 0 and a2x + bay + c2 = 0 has a unique
solution if

a1 by a by Cc1

a) +~ £ 2L by A =2L=2
) as # b2 ) as by cy
¢) None of these d) & — b £ a
az by Co

The sum S of first n even natural numbers is given by the relation S = n(n +1). If the sum is
420, then the value of ‘n’ is

a) 20 b) 21
c) 24 d) 22
If the second term of an AP is 13 and its fifth term is 25, then its 7th term is
a) 37 b) 33
c) 39 d) 35

If D and E are points on the sides AB and AC respectively of AABC such that AB = 5.6 cm, AD

=1.4 cm, AC = 7.2 cm and AE = 1.8 cm, show that DE|| BC.
A

B c
If 18, a,b ,- 3 arein A.P, then find a + b.

Prove the trigonometric identity:

cosecfv1 —cos?f =1

In fig., PA and PB are two tangents drawn from an external point P to a circle with centre C
and radius 4 cm. If PA | PB, then find the length of each tangent.

Maximum Marks: 40

[1]

[1]

[1]

[1]

[1]

[1]

[1]
[1]

[1]
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10.

11.
12.

13.

14.

15.

16.

17.

18.

19.

B

Find the ratio of the area of the incircle and circumcircle of a square.
Section B

Use factorization method to solve the quadratic equation. 4x2 - 4ax + (a% - b2) = 0
The sum of three numbers of an AP is 27 and their product is 405. Find the numbers.
OR

[1]

[2]
[2]

Find the quadrant in which the point P which divides the line segment joining the points A(2, - 5)

and B(5, 2) in the ratio 2 : 3.

AABC is an isosceles triangle with AC = BC. If AB2 = 2AC2. Prove that A ABC'is a right
triangle.
Section C

If two positive integers p and q are written as p = a%b3 and q = a3 b, a and b are a prime
number then. Verify.LCM X (p.q.) X HCF (p.q.) = pq

Solve graphically the following system of linear equations. Also, find the coordinates of the
points where the lines meet the axis of X in each system:

2x+3y=8

X-2y=-3

In the given figure, find the value of x in terms of a, b and c

= K
OR
1 cosec?f—sec’d 3
Iftanf = N show that =~~~ = 7.

Find the area of a triangle ABC with A(1, - 4) and mid-points of sides through A being (2, -1)
and (0, -1).
OR

[2]

[3]

[3]

[3]

[3]

In two concentric circles, a chord of length 24 cm of larger circle becomes a tangent to the smaller

circle whose radius is 5 cm. Find the radius of the larger circle.
Section D

Obtain all other zeroes of the polynomial x# + 6x3 + x% - 24x - 20, if two of its zeroes are + 2 and [4]

-5.
A manufacturer of TV sets produced 600 units in the third year and 700 units in the seventh
year. Assuming that the production increases uniformly by a fixed number every year. Find
the production in

1. The first year
ii. The 10th year

iii. 7 years.

[4]
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20.

OR
A straight highway leads to the foot of a tower of height 50 m. From the top of the tower, the angles
of depression of two cars standing on the highway are 30° and 60° respectively. What is the
distance between the two cars and how far is each car from the tower?
Draw a triangle ABC with side BC = 6 cm, AB =5 cm and ZABC = 60°. Then construct a [4]
triangle whose sides are % of the corresponding sides of triangle ABC.
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ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 10 - SCIENCE
periodic test I11(2019-20)
Time Allowed: 1 hour and 30 minutes Maximum Marks: 40
General Instructions:

Drawlabeled diagrams wherever asked...

Section A
1. [1]
heat
2F6504 — F6203 + SOQ + 503
The above reaction is
a) double displacement reaction b) combination reaction
¢) displacement reaction d) decomposition reaction
2. CH2 = CH2 +Br2(aq) — BI'CHQ—CHQBI' [1]
The above reaction is an example of:
a) Hydrogenation reaction b) Substitution reaction
¢) Combustion reaction d) Addition reaction

3. Statement A : Tendu leaves are used to make Bidis, Statement B : AK Banerjee was involved in [1]

the protection of Khejri trees

a) Statement B is true, A is false b) Neither statement A nor statement B
is true
c) Statement A is true, B is false d) Both the Statement A and B are true
4. When performing the experiment on Ohm’s law noted the milliammeter reading and [1]

voltmeter reading. From the obtained readings, the value of resistance calculated by him will

be
. :'?‘ (H =
& R4 B AR T
:u—". mA S dy
a)5Q b) 0.005 Q
c) 0.5Q d) 0.05 Q
5. The magnetic field lines inside a long current-carrying solenoid are nearly- [1]
a) Straight b) Elliptical
¢) Parabolic d) Circular
6. Name the gland which function actively in emergency situations. [1]
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10.

11.

12.

13.

14.

15.

16.

Name one plant hormone, which inhibits growth. Write its one more function.
How is a voltmeter connected in the circuit to measure potential difference between two
points?
What is the name given to change of path of light with change of medium ?
You have a spherical mirror. The image of an object placed in front of the mirror is virtual. If
the position of the object is charged, the image remains virtual end erect. Is the spherical
mirror concave or convex?

Section B
Explain what is short circuiting and overloading in an electric supply ?

OR

What is the role of the two conducting stationary brushes in a simple electric motor?
A compound X is bitter in taste. It is a component of washing powder & reacts with dil. HCI to
produce brisk effervescence due to colourless, odourless gas Y which turns lime water milky
due to formation of Z. When excess of this gas is passed, the milkiness disappears due to the
formation of P.
Identify X, Y, and Z & P.Also write the chemical equation for the reaction between gas Y and
limewater.

State the property utilised in the following:

1. Graphite in making electrodes.
ii. Electrical wires are coated with Polyvinyl Chloride (PVC) or a rubber-like material.
iii. Metal alloys are used for making bells and strings of musical instruments.

OR
Explain the process of electrolytic refining for copper with the help of a labelled diagram.
Draw a labeled diagram of human excretory system and label the following
a)part where wastes are removed from blood
b)urine is stored
c) part through which urine is discharged to outside

Study the diagram given below:

i. Identify the process.
ii. Which organism uses the above method for reproduction?

iii. How is the above method different from the process of fragmentation?

OR

What does HIV stand for? Is AIDS an infectious disease? List any four modes of spreading AIDS.

Section C
How does atmospheric refraction affect sunrise and sunset?
OR

[1]
[1]

[1]
[1]

[3]

[3]

[3]

[3]

[3]

[5]

When do we consider a person to be myopic or hypermetropia? List two causes of hypermetropia.

Explain using ray diagrams how the defect associated with hypermetropia eye can be corrected.
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17. i. Write the names of the functional groups in [5]1

N

ii. Describe a chemical test to distinguish between ethanol and ethanoic acid.
iil. Write a chemical equation to represent what happens when hydrogen gas is passed
through an unsaturated hydrocarbons in the presence of nickel as a catalyst?
18.  Name any five vegetables generated from a common ancestor through artificial selection [5]
rather than natural selection. Also mention the features for which each vegetable is selected?
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Time Allowed: 1 hour and 30 minutes

CLASS 10 - SOCIAL SCIENCE
PERIODIC TEST - III 2019-2020

General Instructions:

10.
11.

12.
13.

14.

15.
16.

17.

S bk W

Maximum Marks: 40

Section A
Which incident marked the beginning of the Civil Disobedience Movement? [11
Whatis G -77? [11
Name two rainwater harvesting structures built in Rajasthan. [11
Mention two beverage crops grown in India. [1]
Name any two minerals which are found in veins and lodes. [11
In case of a clash between the laws made by the centre and a state on a subject in the [11
concurrent list, whose law will prevail?
Name the sect of Christianity represented by nationalist parties who demanded that Northern [1]
Ireland is united with the Republic of Ireland.
Write one example of inequality in urban areas. [1]
What is demand deposit? [11

Section B
Explain some economic effects of the Non-Cooperation Movement. [31
Why did some people in 18™ century Europe think that print culture would bring enlightenment [3]
and end despotism?
Which is the recently formed national party? Examine its objectives and present status. [3]
Can you elaborate the effects of government’s decision on the small production unit of Ravi? 31

Section C
How much land is degraded in India at present? Explain four human activities which are [5]
mainly responsible for land degradation in India.
Explain the power sharing arrangement among the different organs of the government. [5]
Sumit is a marginal farmer who works in the farmland of the rich farmer in his village while  [5]
Rahul is a lawyer. Describe the sector and the conditions in which the conditions.

[4]
a) 1. Features ‘A’ is marked in the given political map of India. Identify this feature with the

help of the following information and write their correct name on the line marked on

the map.
a. A major wheat producing state

ii. On the same map of India locate and label the following items with appropriate

symbols:

a. A leading Rubber producing state
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b. A Major tea producing state
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i. Two features A and B are marked in the given political map of India. Identify these

features with the help of the following information and write their correct names on
the lines marked on the map.

a. The place where Congress Session was held in 1920

b. The place where Jallianwala Bhag massacre took place

ii. Locate and Label the state to which Gudem rebels belonged with appropriate symbols
on the same map given for identification
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Solution
Class 10 - English Language and Literature
Periodic Test-III (2019-20)

Section A

1. a.seeds

b. there are humans

c. kinds

d. rarely build their nests

e. Both parents

f. dust, water or snow

g. social activity

h. preening, group singing

Section B
2.193-B,

Sector-15,
Chandigarh
14th Nov 2018
The Editor
Times of India
Chandigarh
Sir,
Subject: Dengue-Prevention is better than cure!
In the past month, an alarming increase in the incidence of dengue cases in the city has been noticed which is
a cause for extreme concern and demands the immediate attention of the Health Care department, Municipal
Corporation as well as of the general public.
Dengue is a viral infection is caused by a virus which cannot be treated with antibiotics. It is treated with
under Doctor's supervision. precautions to prevent this terrible disease:

i. Dengue spreads through mosquito bites. To stop the transmission from one patient to another individual,

it is necessary to use mosquito nets at night
ii. Mosquito eradication is necessary for indoors as well as in neighbourhood; thus spraying of mosquito
repellant is necessary.

iii. Limbs should be coated with mosquito repellant sprays and lotions.

High fever is a discernible symptom and may lead to complications due to lowering of the platelet count. Any
bleeding during the infection would be difficult to control. Severe cases may require blood transfusions.
Since, the carrier mosquito breeds in stagnant waters, close to human habitations, cleanliness of the
environment is immensely important and a key precaution for prevention. Vaccination is not an option and
any previous infection does not guarantee immunity as there are numerous viruses that cause it.
Awareness is immensely important to initiate preventive measures. I hope my letter will be published for the
common good of the people.
Thanking you,
Yours truly,
Varsha.
OR

How the Giraffe Got Its Long
Along time, the giraffe had a very short neck and short legs. Once summer was going on and there was little
water left and almost no grass or leaves on the trees. One day a giraffe told the situation to a rhino. They had
no idea how to get food and water. Giraffe suddenly got an idea and remembered that the bush doctor would
be able to help him and his friend Rhino. He told the doctor about his problem. The doctor asked to come the
next day and he would give them magic medicine to grow their neck and legs. The next morning he and rhino
were back at the doctor's office and got magic pills to drink. The doctor said it might take a few days and they
would have to drink the pills a few times. The next day rhino told giraffe he was not going with him to the
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doctor. Giraffe went by himself and the doctor decided he was not going to waste the magic pills and gave a
double dosage to a giraffe for 4 days. After few days while giraffe was out looking for food he suddenly felt a
strange tingling in his legs and neck and the next moment it just started growing. Giraffe got taller and taller
until he could reach the top of the tree and eat the nice leaves. Rhino was very happy for his friend because
rhino understood that giraffe did go through all the trouble every day. The Giraffe was a kind animal and he
started picking the leaves from the trees and threw for his friends. This was how the giraffe got his long neck
and legs.

Section C
3. Error Correction
€)] tell told
d) are is
© contain contains
(d) off of

4. a. There are countless stars in the sky.
b. The stars twinkle at night in the sky.
c. The vast sky reveals the size of the universe.
d. Hyper giants stars are the largest stars in the Universe.
5. a.Poem - 'The Tale of Custard the Dragon’; Poet - Ogden Nash
b. Pistols
c. The pirate held in his teeth a bright cutlass. His beard was black and one leg was made of wood.
d. The pirate's intention was to cause harm to Belinda and her pets.

Section D

6. After listening to the note from Wanda’s father, Maddie feels deeply hurt and sad for Wanda. She cannot
concentrate on her work. She has a very sick feeling in the bottom of her stomach. Now Maddie feels guilty as
she did not stop Peggy from making fun of Wanda. She has just stood silently, and that is as bad as what Peggy
has done.

7. According to the Buddha, the life of mortals in this world is troubled and brief. It is combined with pain.
Nobody can avoid dying. One has to die after reaching old age. Such is the nature of the life of human beings.
As all earthen vessels after a certain period of time break, so is the life of mortals. Only he who does not
lament, complain and grieve can get peace of mind. He who has overcome sorrow will be free from sorrow
and be blessed.

8. Mrs. Hall was ready to avoid the scientist’s strange habits and abnormal behaviour because he had paid her
in advance. She thought that her guest was an eccentric scientist but she was satisfied as she had received
money from him. So she decided to excuse his strange habits and irritable temper.

9. Bholi first did not want to go to school along with her father because she did not know anything about school.
when her father suddenly caught by her hand, she got frightened. She thought she would also be sold as her
old cow, Lakshmi was sold. But when she was bathed and was given a clean dress and her hair was oiled, she
thought that she was going to a better place than her home. As no one took her care like that earlier.

10. When the author was a young child, the baker used to come to his house twice a day. He came there to sell his

loaves of bread. He made his musical entry on the scene with the ‘Jhang, Thang’ sound of his specially made

bamboo staff. One hand supported the basket on his head and the other banged the bamboo on the ground.

He would greet the lady of the house with “Good morning” and then place his basket on the vertical bamboo.

The baker would get loaves for the elders and bangles for the children. The children would be pushed aside

with a mild rebuke and the loaves would be delivered to the servant. Thus, the baker was very popular

among the people as well as among the children. Everyone would look forward to his arrival.
OR

Ebright had a will to become a successful scientist. However, he did not have enough resources and the right

guidance to follow his dream. His curiosity and his strong will made him work hard on various projects and

he was able to formulate theories that helped him win many prizes. As a high school junior, he continued his
advanced experiments on discovering a hormone on the monarch pupa. His hard work and determination
rewarded him and he won a prize. In his senior year, he got an opportunity to work at the army laboratory
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where he was able to conduct many experiments. This shows that if one has a will to do something, then, God
opens all doors for him or her. Ebright's will to work and his curiosity helped him overcome his lack of
resources and helped him in becoming a successful scientist. He was able to work well under the guidance of
the right people and apply what he learned.
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Solution
Class 10 - Hindi A
PERIODIC TEST - III 2019-2020

Section A
i. 519 g9 U fd T AT AT ATIRHU 3 8 df IehT died S 1 FicTar § A Uepfd ol famerefie o Twer s1oe 317y Y faaer

U1 & 3R Uepfd &Y arhd o 9= A &H1 ST USdT 8|

ii. U & SIMEH dien 1 IRV gAR IR 9K qagl & URgd & w4 H Ueh< §idl ¢ ford IR =0T 31Ewq gl 8|

iii. Ul & ga Fgfteran, &, srememente fafd= Afde geut sl U801 HY Tehd 8 1T 7 JUY T Wi URGh TS & &1 &
T RN U R Ghd & | T, SiTTed, STHIA 37 T 84 ek SUgR fAerd 81

iv. ST $8M 7 G& 1 SfieH &7 aret U fd U IUgRI, SHE-5Te, SiTeT 3R STHIA a1 M1 Siieh chY Hifd 3 okl hlf1er &, srufd
ST gH Wrdaer Afdie hl UfchaT sl SIS &d 8 ad AdTa-t o ¥4 H Uehfd & ek 1 3@ ol et g

V. 9 TR & ATIH Y di@dh A 98 9T [Gar ¢ foh &9 o1 Sifdar1faies am A & ORI XU 1 BISahy 370+ SeRoT # g2
GUR HAT T 188 U oY T a1 sifdsh ot 78l < anfgq sraem g8 iR wrepfdes smmueredt a1 =T <A uSm

vi. Upfd R AFE

Section B

. 1. Igh O

ii. fAf9a T (Rtvor Iuarr)
iii, T Gl
iv. IR HI WR IST 3R IJuT 3 7|

. 1. o9 32 ¥ g & fAY =« S|

ii. ST YRR ST AGER THT 78] @RIT ST 8
iii. & A a8 A1gen Gazar 3 FUl H < B
iv. Telt, T R &l

. 1. ISR & ha, v, gfeei, sga, adA™ STl |

SchHen fohaT, SgaaH, GfeeiT, adH™ T |
ii. Fery- I, Sifdaraes, gfei T, e, wH dRa |
iii. Hg=T- T, Afcharaes YieoiT ghaaH |
fharaeh T, Yehae, gfeeiT, di hRah |
iv. 31 R- T, STfdaTaeh Yool YehaeH, S1fieh3oT e |

. . 3 W R W v 'Hmiy 2

ii. "goT' 7T 7 T R 81
iii. dfh & '<rid ' 81
iv. dfth 7 'R 81

Section C

. 1. RaT 2reg T de IR-IR BT I9TH R NWE hH A8 |

ii. YGeTETS 3R SIATETS S TBT U GlenR ST o HIR ST fofSieet @f ot safeiy srest «vrar o1 foh 37 341 981 o1 T s oft
S St T, o T G ST-37eTTT G- T SR fAerar o1, [oed 3-8 ua=d1 fAert oft| 36 Sfa & aRffe & wfta &
g Ifh 1 M g1 ! G A |

iii. ffSree @i sy uflg TEE are &1 ST Heaam ufafeT we=E & Rars & e SHTusaran |

. &, A, AGHRI h IRIET W fhA-3-fh & & & 0l cafth & gfd o &1 U8 8l T g | 39 @wE T Hfd o & Ui

THRE Ie30 I ¢ fob QA1 h3h 31 Y Yendl, SRdedT 3R Tcsidl & flg shrf a3 aret HeTgRsi & Ufd 31mer iR asial & Wid Uehd
HITE | S AN = &1 6 oI q S7oHT Tdea T ok 13T Ik Ul S1g T Uehe 3T 81 il T ST TE S & |

. EITGR 189 GRT sh@H o IR H g@- R U Shgdl & foh he df oISl 8, I8 WhisT & o SIIQT | 98 df UNTed &, URTel | giaret

% GRI he 1 3H YRR HSIch IST STHT GIeIGR HIgd hl <] Tgl ol Hifch (RIS €U § 3EAd gld gyt hed & 7= 4
Adrett o Ul T Y e oft | AdrSit bt IATaeE i I SiTed st ot 3afely a8 39 TR T=AT o & o |

. 7T T GY Afched 1Y o1 T TRATHISH TR TRT I arelT AT| A6 a¥ig +7Td Tk-fg #afiet v & cafth &, fS=ch a1 gk g7 9 |

J HER F CIg! AT UGT T T 3R I81 h Idg §U ART IR TeTd &1 J 3IS h Al Tg) slietd SR 7 81 ST hd I 3! T¢ dieT 'age’
&Y ot Wd # 9T g ATl 8 el o1 'UI8E o aXaR H e Hhich ‘UG’ 9 | Sl el I SR A1, I HAX H aimel, R R,
SISl # hTeft e gd & 3R A¥ddh WR I T fdeleh qUT Tl | JoTdil chl AT YRUTh3d &1 I IH ARg Y AY AN A @A |
3IhT St Sresf drgar & aRyuf o |
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10.

11.

12.

13.

14.

15

16.

17.

18.

19.

'TAEGAT SIS UTS & ATEIH U @ieh A Ig dd T YA fhaT g Siret ot Farelt ot 310+t Tareit fes=T ST OR SIS Q1T T dR-cRieh |
H1 8l Rzrar & & R 051 hed T 3 I off 781 Td foh 39 32 p1E o fier arer 8t | S uis | oA iwd Y ugfa &
S RUT AT TGS h1 T 6! g1 UST | add | Ig g I A aFf TR heT&l shdl g Sl 7O ST A §H1Y & & g pfwar
Ageh SAaTshia g |
e och AFAIT 0N O davel & | 39k A4 & A oh Ul HAT0T, U, TG 3R HI0T hl H1a=T1 o | S0 Tgaadl o RoT
21 3 Ferch 0T & | arcieddl ST AFR df IehT Hieht 3@l H o=dl @l T | I9ch g1 Ted geri i amefiale 33 & g Iad & | Hepe
% TY I 370 TSI ol 39 UhR HicaHT &d & foh a8 IRT §:@ Yech ATdfoT 81 STl AT | §761 ShRUN I oi@eh = Whiak ehl 'AFA™
HI0M <h feed THeh' T3 |

i. ST IS H SSTHINT T TN g AT 51

ii. IGd & TH-AHAAF R T UgR fhar g | Mt & AFIR MgehR Agd 3R W1 cafch gt 2iih ™ & UH T U gt Gehdl g

I AR AT g1 A UF AT AW G Jarg] 81
iii. a8 o oft 01 & e A TE 01 T & e T oft g U9 & 7 Bt Tmey A uig ofik I O Y dier T o o
grEad | ot MoAt 32 STHET Afh AR d T4 3R I & SghR J UH S U g+ 9 dfad A 8

Iwf<h Ufch &HUT STt & IRYRA STt & 39 THT gl e o I¢ IR-GR 370 Th1e, IR H 3R UfAsT & v & sard g3 378 o= el
T et & off SranTd h T8 A Y G X A&HUT SfY T W AA307 81 7@ T 3R IR A did foh IR-aR 3 gt i@ e ey
qT %heh T UETS ISHT A18d &1 dl T8l s Hrae afcT o7ifd AR g1 & Sif STTUh! dof-t 4@ T S ST | 3 eIk If<h oh ZRI S
TRYRM STt Y TR AT I & foh 37T aral T afes off 781 53,3 oroet 1fth ofk ervan R oy Ay @ ofk & IepT avie dien
T O G W ¢ | 3R IS SR ST eFTdl TR 3T 61 THE & df 3TchT §HY g, hITSTQT 8 TG oh fol¢ SR &1 §H df STTaeht
Teh MW, AGIcHT THET H BIS B &1 TR gH STgI0T 3R M, AgTerTsil & Ty gg 8l shed &
TH ALHUT TRYRH TG & MR TR IR & IR hl &f fatwand fAmfafed g -

i. RYRW A hiel WU &h & | IenT shiy fayufeg € |

ii. 38 SO+t dRaT R SR egfden R awe & | 31Ut ST dRaT I IBH STk aR eRdl Y &l & Agd 2 SIRION ol g F &Y o |

. FRren Sft & g T Se’ Uk s i @ | 39 S fa A et ot TEifdd fhar @ | a8 TAe | uRada AT A g | 39

el a1 Shifd T SIS IdRIT & STt Uifed ol &b A aht Tifd T ST |
I ] qHR ™ WRel Gd Wi giclt 6| SH Fsserar ik AT gl 81 79 7 fh ¥t & forg gafemm =&t gidt| Stafch o1 aafh ot
Heh ™ R & S8R 4 gl 81 ag sHac! i gt Genelt g1 ITH arerreht, e a1 fhdt & ufd guifamn oft fodt gt dercht 81
BT @ U dfd T drcad geild A1 Y gag Ffaal &1 a1g &3 T 8 3R ST A g@! Sfie # IS &vlf 1 I1g i g, da a3
3 &IUT <1 BT F1 hgl & | hid 37 TATT 1 A1E A A FHIIY 71 3l & Hlfeh dicit g3 16 A ol IR g@ s &t 81 379
A HHSIR g1 ST & | 98 S §T &G &UT oh! ATG hch 370 Gl i 3R 3k Tg h a8
Sifst UaH h 1€ chT ATk o G oTH o folg FfdeR = FefefEd o fhe-
i. g R A 'Siref dem &Y i Y ATk fhd geer & a1 ' & I UdT 1A & foig v o
ii. 3T a5 & U UgTS! UesT 3R 83 Ueh UGS WR SITch QT 1 UeeR @ief+ &1 T fohaT |
iii. gfdehR YR Aqrer &Y gfaaT e & fag A1 7 T0-aw W AT difes fhe g1 drieh AT @istt ST deh |
iv. 3T fIgR # T STl | @ie g aret sreal oh! ol ahY ATl T +ft S@eh k& T U™ fhaT foh g fthe 81 914 |
v. &gl Y Iugh s gl A Ulg |
vi. 31§ 35 fSier aafth &l AR ST SISt Uad el dle TR e &l |
OR
AT AT TR 519 31T TgT dl T8T S TS 5 fA@NE 7 711 I8 T Yoh Wit SIaf-aT i@ & @t ot | tish S1at & U &1 gRaT
IR QRAT A1 STg § Uit g R &Y FiF AT W1 1 Uk Wit § af@enT 7e 3 et foh 3t hgah eredt Tt # oft ofu et R E | 39
G&T # 3MUeht Igd deheiith gidl g1 | J ThIST A I&TH T I 3R 30 I8 U SI §9d §T el — “IATY AN 39 Y Hig I Foh Fifeig
dA e TG TG U & @ ¢ 1" IGh 39 Hh YA J UdT Ioidl & foh STg1 aiuH H15-4 Ugg S a1 € ag! Wit alfT fohd s ® Tgahv oTuA
e & Ufd T B &1 I 3 o T ST g SR &7 A vl FRew o foig s aRfAfaat & off Ak aemr B 81
Section D
75, g, 8 e
fe=ieR: 17 STet, 2019
o srerg
O T
IR U3 i1 ag stmeRR R giar wrefdes ot fo sroft oft Jrewr Tared ot awg Sies =181 g9 81 g3t JReR A% U st & udr =l
foh gBR et Sgd Teae & , g0 o8 X U 35d 81 aUT g A &3 off Bl a1 8 S R T dt g 3l I @ ot @
3R 9 gt WraT-uiaT Stk ¥ g giar 8l
O i Rafa =gt ofk caram agd smasae 8 | A SR Il 3 T RR A Ih o1 TIR 9¢dl ¢ | AURAT 5¢ gidl & T
ST G 81 SITdT & | AT TAT IRT T dlet B BT A UGTE A Ge olTdl g T I7chT TIRUIRTRh T St g | JA UgT &l 8- "W
SRR g e Atk T I a1 81' 31d: 7 Teltg AT 3R Fafard I aon ™ e &1 313/ STl | T/ W a1 STd g
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foh g TR 81 @ 81 3R STk hRicHd URoTH G &)
I3 qui fayrr 8 foh g A9 9eiTe R @R o Y& R el | g 8 599 goR Aftha 3R UgTs aHl | dthetdn sasg el ok
Jre =i Hft et S8 o gRT H3t GRd w31 a1

derT
CNE
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Solution
Class 10 - Mathematics
PERIODIC TEST - III 2019-2020

Section A

1. @a =0bg+ r0<r<b
Explanation: Euclid’s Division Lemma states that for given positive integer a and b,
there exist unique integers q and r satisfyinga =bq+1r; 0 < r < b.

2. (@-2
Explanation: Let «, 3, are the zeroes of the given polynomial.
Since a + B+ af

= =b ¢ _ Zbtc
_a+a_ a

ca+f+af= =2

-4

T2

=-2

a1 b

3. (a) a_z 7é g

Explanation: The system of linear equations a1 + b1y + ¢1 = 0 and a2 + b2y + c2 = 0 has a unique
b

. . Al
solution if -~ 7#

by
4. (a)20
Explanation: Given: n (n + 1) = 420
=n?+n =420

=n2+n—-420=0

=n?+ 21n — 20n — 420 = 0
=n(n+21)—20(n+21)=0
=(n—20)(n+21)=0
=n—-20=0,n+21=0

=n = 20 and n = —21 [n = —21 is not possible]
Therefore, the value of n is 20.

5. (b)33
Explanation: Given: as = 13
=a+(2-1)d=13
=a+d=13..... @
And a5 = 25
=a+(b—1)d=25
=a+4d=25...... (ii)
Solving eq. (1) and (ii),
wegeta =9andd =4
car=a+ (7—1)d

=9+ (7—1)x4
=9+6Xx4
=9+24=33
6. Given: AB=5.6 crn, AD = 1.4 cm, AC=7.2 cm and AE = 1.8 cm
Q_l_fl_landﬂ_l_ﬁ_l
AB ~ 56 4 AC T 72 T 4

AD _AB
= AB ~  AC
Hence, by the converse of Thales' theorem, DE|| BC.
7.Since 18, a, b, and - 3 are in A.P., Then

a-18=-3-b
or,a+b=-3+18
or,a+b=15
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8. We consider,

10.

11.

12.

LHS= cosecf+/1 — cos26

= cosech/sin?0 [ 1— cos?0 = sinQO}

= coseclsinf

— L sind [ cosec § = L ]
sin 6 sin @

=1

= RHS

Hence identity is proved

A

B

Construction: Join AC and BC

Now, AC 1 AP and CB | BP
/APB = 90"

Therefore, CAPB will be a square
CA=AP=PB=BC=4cm

.". Length of tangent = 4 cm.

Let the side of square = X units
Diagonal of the square = \/551: units
Diameter of the incircle = x units

Diameter of the circumcircle = \/ﬁx units

2
Area of incircle _ ﬂ-( B ) _ 1
Area of circumcircle Vaz \ 2 2
(=)
Ratio=1:2

We have, 4x2 — 4ax + (a2 -b%) = 0

=— 4%?% - [2(a+b) x + 2 (a-b) x] + (a2 -b%)=0

= 4%? - 2(a+b)x - 2(a-b)x +(@@% -b2) = 0
— 2x (2x-a-b) - (a-b) 2x-a-b)=0

— (2x-a-b)(2x-a+b)=0
Either2x=a+bor2x=a-b

__a+b a-d
7=
atb a—b

Hence, x = o 3

According to question we are given that the sum of three numbers of an AP is 27 and their product is 405.
Suppose three numbers in AP area-d,aand a +d.

S.(@-d)+a+(@a+d) =27

= 3a=27

=a=9

Also, (a-d)(a)(a + d) = 405

= (9-d)(9)(9 +d) =405

= (9-dO+d) =45

= 81-d% =45

= d*=36

=d=6,-6

When d = 6, numbers are 3,9, 15
When d = -6, numbers are 15, 9, 3.

—— are the required solutions.

Section B

OR
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13.

14.

15.

Let (x.y) be the coordinates of P, Then
2x543x2 _ 1046 _ 16

T=""m T s 5
_2x2+43x(=5)  4-15 —11
2+3 — 5 T 5
Thus the coordinates of P are (16/5,-11/5) and so it lies in the fourth quadrant.
c
B
A
According to question it is given that in ANABC
AC=BC.....(4)

Now, AB? = 2AC?
= AB% = AC% + AC?
= AB% = AC? + BC? [using (i)]
= ZC = 90° [using converse of Pythagoras' theorem]
Therefore, AABC is a right triangle.
Section C

Given, p = a%b3
and q = a%b
HCF(p,q) = a2b
LCM(p, q) = a3b3
pg=a*b® xa*b=0a’p* —— — — — — — — — — — (1)
LCM((p,q) x HCF(p,q) = a®b® x a*b = a®b* — — — —(2)
From equation (1) and (2) We get
LCM(p,q) x HCF(p,q) = pq
The given system of equations is
20+ 3y =38
T—2y= -3
Now,
20+ 3y =38
=2x=8-3y

8—3y
= T="5
When y = 2, we have
8—3x2
!

When y = 4, we have
8—3x4
5 =2

X 1 -2

y 2 4

We have,

z—2y=-3

=x=2y—3

When y =0, we have
x=2X%X0-3=-3

When y =1, we have
X=2X1-3=-1

Thus, we have the following table;

X -3 -1

y 0 1
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Graph of the given system of equations:

SEIEIEIE IR NENENERENE DN

Clearly, the lines intersect at A(1, 2).
Hence, x = 1, y= 2 is the solution of the given system of equations.
We also observe that the lines represented by the equations 2x + 3y = 8 and x - 2y = -3 meet x-axis at B(4, 0)

and C(-3, 0) respectively.
L

M

Consider ALMK and APNK,

/M = /N =50° (Given)
/K =/K (Common)
.". ALMK ~ APNK (AA Similarity)

LM _— KM
:>PN _b KN

a _ btc
ﬁz_ c

z _ _¢_

a b+c

_ ac
:>X_b+c

OR

A

& :

B -
Given tanf = % = g—g
Let AB=1K

and, BC = /TK

In AABC, by Pythagoras theorem
AC? = AB? + BC?

AC? = (1K)? + (VTK)?
AC%=K? + 7K?
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17.

AC? = 8K2
AC = V8K? = 22K

) _ AC _ 22K
,,cosece—ﬁ— T = 2¢/2

22K 2,2
secd = 4¢ — V2K _ 22

BC ~ JTK /7
- LHS = cos ec’0—sec?6

cos ec2f+sec?6

e (3F)

(
(eva)’+(22)
8

FiD, 1)

(3.2 (-1, 2)
Bixy Cix. )

Let E be the midpoint of AB.

1
w; =2o0rx=3

and# =—lor,y=2
or, B(3, 2)

Let F be the mid-point of AC.Then,
0= “tl orx; = —1

2
and

Y +(—4)
2
or,C=(-1,2)

=-lor,y1 =2

Now the co-ordinates are A(1, - 4), B(3,2), C (-1,2)

Area of triangle
_1

e L |

[
[0+ 18 + 6]
sq units.

N o

1

Given,
r1 = bem,
AB = 24cm

AN 8
*.” AB is tangent to circle C(0,rq) at C
..0C_L AB
In circle C(0,ry), AB is a chord and

1 (y2 —y3) + 22 (Y3 — y1) + 23 (y1 — y2)]
12— 2)+3(2+4) — 1(—4—2)]

OR
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18.

19.

0OC L AB
. AC=BC
In right AOCA,
OC? + AC? = AO?
= 52 4+ (12)? = (r2)°
= 25+ 144 = (ry)?
= (ry)® = 169
ro =13 cm
Section D
As X =2 and -5 are the zeroes of x* + 6x3 + x%- 24x - 20.
= (x-2) and (x + 5) are two factors of x* + 6x3 + x%-24x - 20

= product of factors is (x - 2) (x + 5) = x% + 3x - 10
Dividing x* + 623+ 2% - 24x-20 by x? +3x-10

P43 +2
B +3x-10) ¢4 4 60 + 22241 - 20
o+ 30 -10x7
S +
3% + 1127 - 245 - 20
3x% + 9 - 30x
— = +

22 + 6x-20

222 + 6x =20

- - 4+
0

Dividend = divisor X quotient + remainder

= x%+6x3 + x2-24x - 20 = (x% + 3x-10) (X2 + 3x + 2)
=xX-2)E+35)EE+2)x+1)

Hence, other two zeroes are -2 and -1.

Since the production increases uniformly by a fixed number every year. Therefore, the sequence formed by
the production in different years is an A.P. Let a be the first term and d be the common difference of the A.P.

formed i.e., 'a’ denotes the production in the first year and d denotes the number of units by which the

production increases every year.

We have,a3 = 600 and a;y =700 = a + 2d = 600 and a + 6d = 700. Solving these equations, we get;a = 550 and d =

25.

1. We have, a = 550
.. Production in the first year is of 550 TV sets.
2. The production in the 10th term is given by aq.

Therefore, production in the 10th year = ajg=a + 9d =550 + 9 X 25 = 775. So, production in 10th year is of

775 TV sets.
3. Total production in 7 years

= Sum of 7 terms of the A.P. with first term a (= 550) and common difference d (= 25).

= T{2x 550 + (7 — 1) x 25}
= 1(1100 + 150) = 4375.
OR
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According to the question,

A

30° 60°

C D B

Height of tower (AB)= 50 m
Let C and D be the positions of 2 cars.

In AADB

tan 60° = %
=3=21
= BD = Zxm
In AABC
tan30° = %
= % =2

= CB = 504/3m
.". Distance between two cars = CD = CB — BD

_ _ 50
= 504/3 7
_150-50
= \/§ \/_
100 100+/3 100x1.73
== ﬁ = 3 = 3 = 5766m

Distance of first car from tower = DB

= 50+/3
=50 x 1.73
=86.5m

Distance of second car from tower = C'B
_ 50 V3

AR

504/3

3
__ 50x1.73

3
= 28.83m

To construct: To construct a triangle ABC with side BC = 6 cm, AB = 5 cm andZ ABC = 60° then a triangle
similar to it whose sides are % of the corresponding sides of the first triangle ABC.
Steps of construction:

i. Draw a triangle ABC with side BC = 6 cm, AB =5 cm and ZABC = 60°.
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ii. From any ray BX, making an acute angle with BC on the side opposite to the vertex A.
iii. Locate 4 points B4, By, B3 and B4 on BX such that BB; = By By = By B3 = Bg B,.
iv. Join B4 C and draw a line through the point B3, draw a line parallel to B4 C intersecting BC at the point C'".

v. Draw a line through C' parallel to the line CA to intersect BA at A'.
Then, ABC' is the required triangle.

Justification :

*. B4C||B3C" [By construction]

giz = %g [By Basic Proportionality Theorem]
But g—f;i = % [By construction]

Therefore, %%, = % .............. ®

" CA || C'A' [By construction]
.. ABC'A ~ ABC A [AA similarity]
. AB _ AC' _ BC'

9B = A0 = B :%[Fromeq.(i)]
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Solution
Class 10 - Science

periodic test I11(2019-20)
Section A

(d) decomposition reaction
Explanation: Ferrous sulphate crystals contain water molecules (FeSO4. 7H,0). On heating, ferrous

sulphate crystals lose water and anhydrous ferrous sulphate (FeSO,) is formed. So their colour changes

from light green to white.
On further heating, anhydrous ferrous sulphate decomposes to form ferric oxide (Fe;03), sulphur dioxide

(SOy) and sulphur trioxide (SO3). So, the gas emitted smells like burning sulphur.
In this reaction, the single reactant FeSO4 decomposes to form three different products. So, the reaction is a
decomposition reaction.

(d) Addition reaction

Explanation:

The given reaction is an example of addition reaction. In this reaction, a bromine atom adds to each
carbon atom of ethene. The double bond in ethene is broken and the hydrocarbon becomes saturated.

(c) Statement A is true, B is false

Explanation: Statement1 is true because- Tendu patta (Diospyros melanoxylon) leaves are used for
wrapping the tobacco and making " beedis " or Indian cigar

Statement 2 is false because Amrita Devi and Bishnois sacrificed their life saving the Khejri trees.
4. (@5Q

Explanation: V=0.8 V,I =160 mA = 160 x 103 A

_ Vv _ 0.8 o
R=T= 160 x107% 50
(a) Straight

Explanation: The magnetic field lines inside the solenoid are in the form of parallel straight lines. The field
lines inside the solenoid are in the form of straight lines which indicates that the magnetic field is the same
at all points inside the solenoid.

. The adrenaline hormone prepare our body to function at maximum efficiency during emergency situations

. Abscisic acid is the hormone which inhibits growth. It also promotes dormancy in seeds.

. Voltmeter is always connected in parallel to the ends of the resistor across which the potential difference is
required to be measured.

. Refraction can change path of light with change of medium.

. Since convex mirror always forms a virtual and erect image irrespective of the position of the object in front
of the mirror. So the given spherical mirror is convex mirror.

Section B

. Short circuiting : If sometimes a live wire touches neutral wire or earth wire, a large current flows through
the circuit due to almost zero resistance of the circuit. This is called short-circuiting. To save the circuit from
damage feared due to over-loading a short-circuiting, a fuse of proper rating is put in each circuit.
Over loading : The supply wires as well the wires used in household wiring has a specific rating. The rating
of 15 A means that if a current upto 15 A is passed through circuit, there is no likely damaged feared to the
circuit. But if current more than maximum allowed limit is passed, there may be excessive heating of the
wires and it may damage the wiring due to excessive heating.

OR

The brushes are the two flexible metal plates or carbon rods which are so fixed that they constantly touch the
revolving rings and help in conduction of current.

. Bitter taste is generally associated with substances which are basic in nature. Therefore, compound X could
be basic in nature.
Compound X is also a component of washing powder, hence it could be sodium carbonate. Washing powder
is sodium carbonate decahydrate.

o 3
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13.

14.
15.

Since compound X is basic and a carbonate, it will react with dil. HCl to produce brisk effervescence of
carbon dioxide gas (a colourless and odourless gas). Carbon dioxide turns lime water milky due to the
formation of insoluble calcium carbonate. When excess of carbon dioxide gas is passed, the milkiness
disappears due to formation of soluble calcium bicarbonate.

Hence, X is sodium carbonate; Y is carbon dioxide; Z is calcium carbonate, and P is calcium bicarbonate.

Na2COs3 +2HCl(aq) — 2NaCl(aq) + H20() + CO4(g)
X Y
Ca(OHz)(aq) + CO2 — CaCOs3(s) + H20(l)

(Limewater) (White precipitate)
z

CaCO3(s) + HyO(1) + COyyy — Ca(HCO3),(aq)

(Solubleinwater)
P

i. Graphite in an allotrope of carbon which is a good conductor of electricity because of presence of free
electron and it is cheap, insoluble in water, do not react with acids and bases (non-corrosive). Due to these
properties, it is used in making electrodes.

ii. Polyvinyl Chloride (PVC) or a rubber-like material are insulators means they are bad conductors of
electricity and hence do not allow electrons to flow. Hence, these are used in coating the electrical wires.
iii. Metal alloys are used for making bells and strings of musical instruments because they are sonorous.

OR

Anode B4 oo == Cathode
(impure = (pure copper strip)

C:tpr)ige)'r Copper sulphate
solution (acidified)

In electrolytic process, the impure metal is made the anode (negatively charged electrode) and a thin strip of
pure metal is made the cathode (positively charged electrode). A solution of the metal salt is used as an
electrolyte. On passing the current through the electrolyte, the pure metal from the anode goes into the
electrolyte solution and takes up electron and gets reduced to metal and deposited at cathode.

At cathode Cu2* +2e” — Cu (deposited)

Atanode Cu(s) — Cu*" (aq)+ 2e—
(Impure metal) (Dissolved)

refer NCERT X SCIENCE lesson 6

i. The process depicts binary fission, a method of asexual reproduction. Involving single parent only. Where
the parent cell grow and divide into 2 daughter cell.
ii. Binary fission is observed in unicellular organisms or multicellular organism with simple body design,
such as Amoeba, Euglena and Paramecium, etc.
iii. Differences between fission and fragmentation are:

Fission Fragmentation

It is the division of parent body into two identical |It is the division of parent body into two or more small
daughter cells of similar size. fragments. Which regrow into new organism.

It occurs in unicellular organisms or multicellular |It occurs only in multicellular organisms with complex

organisms with simple body organisation. cellular organisations.
e.g. Amoeba, plasmodium. e.g. Spirogra.
OR

HIV stands for human Immunodeficiency Virus.
Yes, AIDS is an infectious disease.
Four modes of spreading AIDS are as follows:
i. By having sexual contact with an infected person.
ii. By the transfusion of blood from an infected person.
iii. Through infected needles used for injection.
iv. Through the placenta from the mother to child during pregnancy.
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Section C
16. The layers of air nearer to earth are denser than those above it. At sunrise and sunset when the sun is below
the horizon, the light rays starting from sun are falls on these layers. They pass through successively denser
layers and thus get bent more and more towards the normal until they fall upon the eye of the observer O.
To the observer O, these rays appear to come from S' which is above horizon. It is for this reason that the sun
is visible to us a little before it rises above the horizon and so also can be seen for more time as it sets below
the horizon. The difference of time is about two minutes each for early rise and late setting of the Sun.

Apparent position
of sun

Layers
of air

>

Eye

Real position
of sun

OR

Myopia: The defect of an eye in which it cannot see the distant objects clearly is called myopia. A person with
myopia can see nearby objects clearly.
Hypermetropia: Hypermetropia is also known as long-sightedness. In this defect, a person can see the distant
objects clearly but cannot see the nearby objects clearly.
Causes of Hypermetropia:

i. The focal length of the eye lens is too long.

ii. The eyeball has become too small.
In hypermetropia, the image of a distant object is formed behind the retina and not on the retina. The defect
is corrected by using the Convex lens of suitable power so that the lens will bring the image back on to the
retina. The ray diagram of hypermetropia eye are as follows:

=13
=
¥

24

{c] Correction _for Hypermetropic eye
17. i. a. Ketone (R-CO-R)
b. Aldehyde (R-CHO)
ii. Distinguish between ethanol and ethanoic acid:

a. Ethanol does not react with metal carbonate while ethanoic acid reacts with metal carbonates to form
salt, water and CO5.

e.g. 2CH3COOH + Na,CO3 — 2C H3COONa + CO2 + H20O
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18.

b. Ethanol does not react with NaOH while ethanoic acid reacts with NaOH to form sodium ethanoate and

water
e.g. CH3COOH+NaOH — C H3COONa + H20O

c. Ethanol can undrergo oxidation to produce aldehyde and futher it can oxidize to produce acid.

iii. saturated hydrocarbon is obtained as hydrogen gas passed through unsaturated hydrocarbon. The
reaction is an example of addition reaction better known by the name of hydrogenation reaction.

Ni
CH2 = CHQ + H2 —_— CH3 — CH3

Ethene Catalyst  Ethane
(Unsaturated (Saturated
hydrocarbon) hydrocarbon)

Humans have, for more than two thousand years, cultivated wild cabbage. They have selected various
character artificially rather than selecting naturally, which led to development of various species. It has
resulted in generation of the following vegetables due to some specific characters such as:

i. Cabbage selected for short distance between leaves.
ii. Broccoli selected for arrested flower development and thick stem.
iii. Cauliflower selected for sterile flowers forming a large flower.
iv. Kohlrabi selected for a swollen edible stem.
v. Kale selected for large leaves.
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Solution
Class 10 - Social Science

PERIODIC TEST - IIT 2019-2020

Section A

1. On 6™ April, Mahatma Gandhi ceremonially violated the Salt Act, manufacturing salt by boiling sea water.
This incident marked the beginning of the Civil Disobedience Movement.

2. The G -77 is a coalition of developing countries to demand a New International Economic Order (NIEO). In
order to catch up with the development in advanced industrial countries, the developing nations organised
themselves as a group - the Group of 77 or G-77 - to demand a New International Economic Order (NIEO).

3. Khadians and Johads. In arid and semi-arid regions, agricultural fields were converted into rainfed storage
structures that allowed the water to stand and moisten the soil like the ‘khadins’ in Jaisalmer and ‘Johads’ in
other parts of Rajasthan.

4. Tea and coffee are two important beverage crops grown in India. South Indian states are the major producer
of Coffees in India with Karnataka 53%, Kerala 28%, Tamil Nadu 11% and remaining from the other states
includes Andhra Pradesh, Orissa, Assam and Tripura. Hilly area and good monsoon in this region make it the
best place for important varieties of coffee and tea plantation.

5. Zinc and lead are the two minerals are found in veins and lodes.

6. The Union Law shall prevail in case of a clash between the laws made by the centre and state on a subject in
the concurrent list.

7. Catholics

8. Good hospitals, educational institutions and shopping malls are available mostly in the posh areas whereas
slums like dirty, old colonies in the outskirts of a city or town are the best example of urban inequality.

9. A deposit with a bank that can be withdrawn whenever the depositor wants to do so is known as a demand
deposit. Demand Deposits also known as Current Account deposits provide the depositor with the liberty to
withdraw money at any point of time. That is, the account holder of the demand deposits can demand these
deposits at any point of time as per their discretion and convenience. Such deposits do not offer any rate of
interest.

Section B
10. The economic effects of the non-cooperation movement were very significant as mentioned below:
i. Foreign goods were boycotted, liquor shops picked and foreign clothes were burnt in huge bonfires.
ii. The import of foreign cloth halved between 1921 and 1922 and its value dropped from Rs.102 crores to
Rs.57 crores.

iii. In many areas, merchants and traders abstained from trading in foreign goods or finance foreign trade.
iv. As the boycott movement spread, people used only Indian clothes and began to discard foreign clothes.
v. As a result, the production of Indian textiles and handlooms went up.

11.

[N

. Print created the possibility of wide circulation of ideas, and introduced a new world of debate and
discussion.

. Even those who disagreed with established authorities could now print and circulate their ideas.

. Through the printed message, they could persuade people to think differently and move them to action.

. There was a common conviction that books were a means of spreading progress and enlightenment.

. Many believed that books could change the world, liberate society from despotism and tyranny and herald
a time when reason and intellect would rule.

6. Mercier, a novelist was so convinced of the power of print in bringing enlightenment and destroying the

basis of despotisms that he proclaimed ‘Tremble, therefore, tyrants of the world! Tremble before the

virtual writer’.

12. Nationalist Congress Party is the recently formed national party after the split in congress in 1999.

g1 b W N

A. Objectives of NCP: This party advocates democracy, Gandhian secularism, equality, justice and
federalism. Wants that high offices in government be confined to natural born citizens of the country.

B. Present Status: A major party in Maharashtra and has a significant presence in Meghalaya, Manipur
and Assam. A coalition partner in the state of Maharashtra in alliance with the Congress since 2004, a
member of the United Progressive Alliance.
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13. a. Ravi had started his own company producing capacitors in 1992. Within three years he was able to

expand production and had 20 workers working under him.

b. His struggle to run his company started when the government removed restrictions on import on
capacitors as per its agreement at WTO in 2001.

c. Now his main clients start buying capacitors from MNCs because companies are selling capacitors at very
low price.

d. Ravi Now produces less than half the capacitors that he produced in the year 2000 and has only seven
workers working for him.

Section C
14. At present, about 130 million hectares of land is degraded in India. Continuous use of land over a prolonged
period of time without taking necessary steps to conserve and manage it has resulted in land degradation.
Four human activities responsible for land degradation in India are as follows:
i. Deforestation: Deforestation leads to the erosion of land and desertification as a result of which land
becomes waste or less fertile.

ii. Industries: Mineral processing generates a huge quantity of mineral dust in the atmosphere which
ultimately settles down on the land. It retards the process of infiltration of water into the soil, thus,
degrading the land.

iii. Overgrazing: The increase in livestock population results in over-exploitation of the pastures. Due to this,
there is a lack of vegetation cover and which leads to land degradation.

iv. Excessive irrigation: Excessive irrigation leads to water-logging and consequentially salinisation and
alkalinisation of soil. This reduces the fertility of the soil.

15. A.In a democracy power is shared among the different organs of the government such as Legislature,
Executive and Judiciary. This is also called as the horizontal distribution of power sharing.
B. Legislature is lawmaking body, Executive is law implementing body and Judiciary is dispute solving body
of the Government.
. Because it also allows different organs of government placed at the same level to exercise different power.
. Under this kind of power sharing arrangements, no organ of the government can exercise unlimited
powers.

. Each organ has its own power and checks the powers of other.

. This results in the in a balance of power among various institutions.

. It involves division of powers from higher to lower levels of government.
H. It allows a general government for the entire country and governments at the regional level.

16. Sumit is working in the primary sector while Rahul is working in the tertiary sector.
Sumit is a landless agricultural labour. He is in the primary sector which is largely unorganised in India.
There are no rules and regulations and the rich farmer may not be giving proper wages to Sumit. Also, there
is no provision of overtime payment, paid holidays or paid leave. He can be asked to quit his job at any time
without any reason. His will get daily wages for their work, which is comparatively less than the pay
prescribed by the government. Also, there are no provisions for overtime.
Rahul working as a lawyer is in a better position than Sumit. He is a professional and works in the organised
sector. He can also be self-employed. He will get paid leaves, holidays, provident fund and gratuity etc. He
will get additional remuneration for overtime. In both cases, he will earn better than Sumit. He can work
both in the private and public sector. He has more and better choices for earning. He is engaged in the
tertiary sector which is the highest contributing section in India’s Gross Domestic Product.

17..
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